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I/ Check the answer with True ( \/ )or False (X)) (5 marks)

1. Identifier names can be declared after use. ’

2. In an assignment statement, the value on the left of the equal sign is always equal to the value

/ on the right. (
3. The size of double is 16 bytes. (
4. The result of a=--x when x=10 is a==10 and x==9. (
5. IfEl is false and E2 is true then E1||E2 is true. (
6. Relational operators have a higher precedence than arithmetic operators. (
7. The default return type of function is void. (
8. You can assign one structure variable to another, provided they are of the same type. (
9. The compiler will complain if you try to access array element 14 in a 10 element array. (
10. Data items in a class must be private. (

IT1. Write the equivalent C++ statements only for the following expressions: (10 marks)

[ —— -

[ : -b £ Vb? - 4ac !

X = ;

2a ;

|

d = (2 =x1)2+ (y2 — y1)? |

34 = 1/2 (b1 + b2) h

ifx < —10

o] =

YEA7if-10=x=10

\ \15 ifx = 10

. 1 if iseven
y= 0 else

2]
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1.9} Suppose that the temperatare during Junc is approximatelv normal distributed with
mean 55 degree and standard deviation 4 degree, for a one day in June, find the
probabulity that the temperature
(i) is between 30 and 40 ,  (ii) greater than 45, (iii) less than 33
b) The probability of a bacterinm being infectec with a phage 1¢ 0.3, If seven bacteria
are examined under a microscope what is the probability that:

{1} no bacteria being infected, (i) five bactenia beisg infecied, (it} at most three
bacterium being infected.
2-a) Ifthe mean and standard deviation of serum iron values for healthy men are 120

and 13 nwmf'wmx per 100 ml, rrys"ectweiy Whar 18 the probability that a random

sampie Df ‘SO Grmal vield a mean between 115 and 125 micrograms per 100

by As fﬂdv‘ el fm rth weight pmv’de d the mlirwun;: Gaia (inkg} on 12 whorns
”’7‘34“?8'31'27'” 3; 936,34‘.93
‘(i) alc ulate the 99% confidence m’rervai for the population meza of the birth welght

(ii) Test the hypothesw that Hy:p=3.5; Hy:u#35; a=0.05

£

3-a) The following data represents the means and variances of two samples

g n, =10, X3 - =199,8, =12 ,

e

‘np =8 X[ =191, =

(U8

Assume the pépal].&ti@il.s are normally distributed:

(i) calculate the 95% confidencs interval for difference be‘t weer two means jiy - i- .
"k ’ |

(i)’ Test the rp/%f esisthat Hy tpy =g 5 Hypy#uy; a=0.05

4-a) A sample of 500 nursing applications included 60 from men. Find 90% confidence

interval o tr»f: true propostion of men who applied the nursing program.
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By A ressarcher wishes to try three different techaiques to lower tiie blood pressure of
individuals diagnosed with high blood pressure. The subjec‘é;’s are randomly assigned to
three groups A, B and C. After four weeks, the reduction in each person’s blood pressure
in recorded and the data are shown. At o« =0.05, test the claim that there is no

difference among the means.

r;z;m 1219 T15] 13
({Bl6|8]3]0]2
Fﬁ 91218 4

|
S-a) A study of blood flow ‘velaci"y has iead to the following results in 18 people:
75,77,.78,77,77,72,72, 72,70, 71, 6GY, 69, 68, 66, 64, 66, 62, 61.
ssuming the population is nermally distributed | find 90% confidence interval for the
population variance o~

b} For the following paired cata, compute 95% confidence interval for the population

nean fimerewe L

T AT 2] 35 |28 | 20 | 32 | 34 ] 30 | 34

! | ; L. U O M |

E B b2 29 1 36 34 30 | 2 28 | 24

- - j | 1 i ! .

The tabu]ated‘ rlllleb |

D(0.5) = 0,69 15,0(1.25) = 0.8944, (2.5) = 0.9938,®(2.36) = 0.9509, F(0.95,2,12) =3.89
t(0.995,11)=3 ‘06, 1(0.975,11)=2.201,1(0.975,16) = 2.12 ,%(0.05,17) = 8.67,

v(0.95,1 ”’)—- 7.59, 4(0.975,7)=2.36
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Tos,11) =1.80, Tgors 11) =2.20, Foos 3 16 = 3.24,

Z().gg = 233, Zo_gs = 1.65 ’ ZO.975 = 196, 20‘995 = 2.58
P(0<Z<1005)=0.5, P(0<Z<854)=0.5, P(Ty3<0.99) =0.85.
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Time: 2 hours el a3l
January 2017 ARRRASTEN
Answer the Following Questions: (50 Marks)
I. Complete the following statements from the given table (write letter only). (20 marks)
Note: each answer may be used several times.
A bool F int L | identifier | Q | array |
B 0 G 3 M do-while R class
C while H main () N User S structure |
D goto 1 Designer O | enumeration | T ¥ s
E 4 k 2 p 1 U | None of these choices |
1) The entry point of any C++ program is a function called ............................ ( )
D (x=&&E=y)= ..o « )
3) Thetype ....... always takes a byte. = « )
4) DOUBLEisavalid ............ ( )
5) A=2;if (A=1) A=0; else A=3; as a result of thiscode Ais............... { 1
6) ovrnnnn loop is tested at the bottom. ¢ )
7) Using .......... statement is not recommended in C++. (
8) i make the best possible class without worrying about how the class will be used. o)
9) Function prototypes have ......... components. {
10) is a set of named integers. { )
1y is a collection of variables referenced with one name. €%
12)  The C++ conditional operator is ................... ( )
13) C++ defines type ...... with possible values: true & false. «( )
14) test at top and may not execute ( )
15) ... is an ordered collection of variables, each of the same type. (O
16) The size of ...... is the machine’s word size. )
17) stremp (char* sl, char* s2) returns ......... if s1 and s2 are identical. « )
18) v is case sensitive. ¢
19) Ifthe LHS operand is a pointer to a struct, use the ............. ()
20) Arraymustbe ............. character longer than the longest string that it holds « )

1 |~



1V. Write the output of the following blocks of code:

(15 marks)

No

Code

Output

. |Struct part

{

int modelnumber;
int partnumber;
float cost;

35
part p1 = {1234, 687, 10.57 };

cout<< pl.partnumber;

int a[5];

aj4] =3;

for (int i=3; i>=0; i--){
afi] = 2*a[i+1]-i;

cout << ali];

}

.wT'

intx=1;

while (x <=10) {
cout << x << "\n'";
X +=2;

}

int x=19;
while (x > 5) {
X /=2;

cout << x;

if (x%2 ==0)

cout << "\n"’;

. {inte=1;

while (¢ <20) {
if(c%4=—=0&& c%3!=0)
cout << ¢ << "x"';

ct++;

}
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